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Write the formula that expresses the price when the shopping bag is 3 yen.
v En bATEL
15 R4 i 1
th o X_/\/ 59 A Eho Zh
HLffi 10 F o> i A7 2 HAK 20 HDF 2 =2 L — h
Z 79 (AR L& ¥ AR LE
R A 2F-V RS Keo S
1 10x 7+ 3 1
2 10x 2+ 3 2
3 10x 3+ 3 3
n 10xn + 3 n
o ) @éi ,—["—» 2
RO & %X %%ﬁof%bfiéb\
Represents the next quantity in letters.
v En b ED
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Express the following expression in the form of a symbolic expression.
A HA WD
15 R4 i /4
@ axb ab O xxy
@ yxx xy @ bxa
@ 2x«x 2 x ® 3xy
@ xx3 3 x @ zx4
® xx(—1) —x ® yx(—1)
® axaxa al ® xxx
@D 2ax3a 6 a? @D 4xx2x
x~ 3 3; a—+ 4

n 5 L Fu U oA AR h Uxi
4. 1R %%T*ﬁ —*B#Eiﬁéijﬁ W gt TE& DD,
E3N F W kb
1 ﬁ,2$ 3&%]':’\’(%7 L?Z.’C&)é
Paste the drawing paper on the bulletin board with a thumbtack
so that a part overlaps.
I e i e T
® 8 |8 (2 8 b [pl |pi @
A Z OO
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6.

© 4 fetirT 5 it

7048

B (% (] {5 e,

How many thumbtacks are needed to stick 4 sheets of paper?

Fvidwn U
@n *ﬁt%ﬂ‘?‘ék%@ %’i @@i&@ﬁ% 7
How many thumbtacks are needed to stick n sheets of paper?
2 n+2
HimE [ ¢ B [ ¢ f  o; o
e 8 & el e el (o] o
® 8 |0 (2l 8 b [pl |pi @
ESARP ANV n Wxr 9 o Z U kD
O 4 R 2 1L S A fE 2 B,
EINNTAINNY Sy L& i
@n *ﬁt%ﬂ‘?‘ék%@ @iﬁr@it%%f
eks L& B fz b =0 _vy;y
x=—30DLE, ROKXD fE %KD K, A
Find the value of the following expression when x=—3.
o fEn bA WD
151 #43 i 74
D x+ x =(-3)+(3 |© x+x+ x
= 4
@ 3«x — 3x(—3) @ 2x
= —9
T
/j’( D n+ =R A J: Calculate the following expression.
o fEn bA WD
151 74 i 74
O 2x+5x =¢+s5x | 2x+ 6x
=7
@ 3x+ x -B+1Dx |@ 4x+ x
= 4 x
@ 6x —x -6-1Dx |® 3x—x
= 5tx
@ 2x—5x =2-5x |@® 2x—6x
= —3x
®—-3x+5x =(3+5x |® —2x+ 3x
= 2Xx
®—2x—3x =(23x |® —5x—2x

= —5Xx
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Write the formula that expresses the price when the shopping bag is 5 yen.
nn En bA T
15 R4 i 1
Ao b /u . ig5 Kk Zh N
HLAf 20 3D 5 F 0k HAil 30 Hov v 7 hY
Z 79 EnE A L ¥ AR LE
{1 % (4 o3k [E ANEALF:
1 20X 7+ 5 1
2 20x 2+ 5 2
3 20X 3+ 5 3
n 20xn + 5 n
o¥ Lz b LLx bbb ok bbb
ROXZXFEAD R LAT R LRIV,
Express the following expression in the form of a symbolic expression.
I HA WD
15 R4 i &4
D xxy xy D axb
@ bxa ab @ yxx
@ 3xux 3 x ® 6xa
@ xx4 4 x @ zx5
® 1xa a ® 1xa
® xx(—1) —x ® yx(—1)
@D axaxaxa af @D xxxxx
® 2ax4a ¢ a? ® 2xx5x
® 2ax(—2a) —4 a? ©® 3xx(—2%)
—ax(—2a) 2 a? —xx (—2x)
@ —2ax3a —4 a? @ —2xx5x
@ x+ 6 7 ® a+ 2
nE ¥ RALLS bbb
OB x L LI L X, KK@IE%JET%%J@
Express the following sentence as an expression when a certain number is x.
v En L 3N b
HEO borHE3/BFELT1I1EMR D,
Multiply a number by 3 and add 1.
3 x +7
HAED /J*j‘ till\ b
MEO 2%z 2fHFLT3EMA 5,
Multiply a number by 2 and add 3.
nwrEn 7?1—;*‘ 16y i
BIEQ HOHENE 125V bDIZ22HT 5,
Subtract 1 from a number and multiply by 2.
2 (x—7)
b N IS
MO &)éi&ﬁ)%?ﬂi’%lb\t%@ 4 28T D

4. ~ /?*ﬁ%lﬁf\f@ﬁﬁ/%ﬁf\é -Yte
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Answer when you arrange matchsticks to form a rectangle.

e —-
W T
) k) A EL VD LD
@ 4<% & &~ o F B TALE D,
How many matchsticks are needed to arrange 4 rectangle?
2}.’\
- b EAT
@ n {3l -~ ék%’?/?‘ﬁ?@ﬂiiﬁ@ﬁ%ij‘
How many matchsticks are needed to arrange n rectangle?
4 n +2
HAEW e
cL I N

]

35 RAUEL O KD

DafRE~2%L &~y FH AR L E ),

kb IE V] L&

@ nEY~B L&~y FHEOALDNE BT,

20 \-@9

ek L& bl b
ROKXDE 2RO L,

x=—4 DL X, X{t
Find the value of the following expression when x = —4.
o fZn bA WD
15 #E3 i &8
D x+ x =(-)+(—4 O x+x+ x
= —¢
@ 3x =3 x (—4) @ 2x
= =72
@ %3 =(9x(9x(-9 |@ «?
= —4
oF LV sk
Yk@ 1‘%%“@'4:0 Calculate the following expression.
o fZn bA WD
15 R4 i &4
D 2x+4x =¢+9x |O 3x+ 2x
= 6 X
® 2x+ x =2+1)x |® bx+x
= 3Xx
® 6x—4x =@6-ax |® 5x—2x
=2 X
@ x—9x =1-9x |@ x—4x
= —§&x
®—-3x+9x =(3+9x |® —2x+ 7x
= 6 X
® —2x—x =(—2-1)x |® —5x— x
= —3x
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Write the formula that expresses the price when the shopping bag is 4 yen.

Zh

I// ;’c4P§

o En bA E
i i &4
thow b ] thow i/u zm )
Hiffi 40 oo =3 — 27 v Hiffi 50 %‘ S
) Eoan  Lx oy vxh Lz
[t K4 D 15 £ (Tr
1 40x 7+ 4 1
2 40 x 2+ 4 2
3 40 x 3+ 4 3
n 40xn + 4 n

2% Lx % L Lx bbb nk bbb
2. XOAEXFHADKRLATE LS,

Express the following expression in the form of a symbolic expression.

{5 i

@© sxt st D xxy

@ cxa ac @ yxx

@ 4xk 4k ® 3xp

@ rx3 3r @ axb

® 1xx x ® 1xy

©® ax(—1) —a ® xx(—1)

@D axaxa a’ @D xXxxxxXx
® 4ax5a 20 a2 |® 6xx9x

® 2ax(—2a) —4 a? ©® 3xx(—2%)
—ax(—2a) 2 a? —xx (—2%)
@ —2ax3a —6 a? @ —2xx5x
® x+ 5 356 @ a+ 3

3. bAMEx L LELx,

Express the following sentence as an expression when a certain number is x.

oE /S%'/ul,iini L§ HHb
WO =T £ H,

FEO &2%%&3HLT125<,
Multiply a number by 3 and substract 1.
3 x —7
bAEL n T ”
MED »okzrE2fELT125<,
FOLAN S »nd D
BIEO 28z l%ﬁﬂzt%@ 2T 5,
Add 1 to a number and Multiply by 2.
2 (x +7)
bhED nf n
HEO BHNC 2 EM AT b DI LB BT B

b Shhod v

b

4, <o FHEELESRT B EL~SE L X IEHONTER L,

Answer when you arrange matchsticks to form a triangle.
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6.

o fEZn
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How many matchsticks are needed to arrange 4 triangles?

[E¥

/421-'\

@nHlE~% L &~ v FHROAKOX 2 7o

How many matchsticks are needed to arrange 4 triangles?

3 n—+2

A EL VD LD

AT

[ead

Emé
?ﬂﬂ'i"

JAYA

) 4@1@\6 L&~ /7’“1‘%? AR L E ),

MY

@OnEY~B L&~y FHEDOALDOREET,

AV VAEY VRIS )
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x=—50D&LE, RKOXDE %Rk X, A
Find the value of the following expression when x = —5.
o fZn bA WD
15 #E3 i
O x+ax+x O x+ax+x+x
=9+ (-5 (-5)
= =75
@ 4x ® 3x
= 4 x(—5)
= —20
@ x8 @ «?
=(=5) x (=5 x(—5)
= —725
PORY
/j’( D n+ =8 A J: Calculate the following expression.
o fZn bA WD
15 R4 i
O 3x+5x =@+s5x |O6x+2x
= §&x
@ 5x —x -6-1Dx |@ 7x—x
= 4 x
® 9x—4x =@9-ax |® Tx—2x
= 5tx
@ x— 3x =1-3x |@ x—6x
= —2x
®—-383x+2x =(3+2x |® —5x+ 3x
= —X
® —4x—x =(—4-1Dx |® —6x— X
= —5Xx
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/j’( D n+%: A J: Calculate the following expression.
0 HA WD
151 R il
®1+1 =(+1D)+(+1) O 1+ 2
=+(+7) = 2
© 5+ 4 =(+5)+(+4) |@ 8+ 2
=+(+4) =
® 6—5 =(+6)+(-5 |@ 7— 3
=+ (6—5) =
@1-5 =(+1)+ (-5 |@ 2 — 8
=—(-1) = —
® —1+3 =(1D++3) |® —2+3
=+@—7) = 2
® —6+4 =(-6+(+49 |® —8+3
—(6—4) = —
@D —2—3 =(2+(3 |@® —3—4
—(2+3) = =5
—3—1 =(-3)+(-1) —4—1
—@3+7) = —4
/j’( D) gq‘%{ VA J: Calculate the following expression.
bA T bA RN
] A i &d
O 3+ 3 ® 2+5
® 7—2 @ 8—4
® 1—6 ® 2— 3
@® —1+1 —2+ 4
© —8+ 2 -9+ 2
@ —2— 2 @ —3—-7
@ —-1—5 —-1—8

3.

DAY

/j’( D n+§- VA J: Calculate the following expression.

W HA WD

{51 R il

O x+x O x+ 2x
=(/+7)x =2 «x

® bx+4x @ 4x+ 2x
=5+ x = 9 «x

® 6x—5x ® T7x—2x
=(6—5)x = x

@ x—5x @ 2x —5x
=(/—5x = —4 x

® —x+ 3x ® —2x+ 6x
—(—/+3)x = 2 x

® —6x+ 4x ® —7x+ 4x
=(—6+4)x = —2 x

@ —2x— 3x @ —3x— 6x
=(—2—-3)x = —5 «x

—3x — x —5x — Xx
=(—3—7)x = —4 x

AN

/j’( D n+ %- A J: Calculate the following expression.

b bHAEN

F'ﬂ i &d

O 3x+ 3«x @ 4x+ 6x

® T7x— 2x @ 4x—2x

® x—6x ® 2x —9x

@D —x+ x —3x+ 4x

© —8x+ 2x —8x + 4x

W —2x— 2x @ —3x— 2x

@ —x—5x —x — 3x
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/j’( D n+%: A J: Calculate the following expression.
0 HA WD
151 R il
D 4+ 4 =(+9+(+4 |© 5+ 5
=+(#+y) =
® 1+ 4 =(+)+(+4) |@ T+ 1
=+(+4) =5
® 6— 2 —(+6)+(—-2) |® 7— 4
=+(6—2) = 4
@ 1—14 =(+)+(-49 |@ 2—7
=—(—7)= =3
® —14+7 =C-n++7n |® —1+ 8
=+(7—7)= ¢
® —6+5 =(—e6+(+5 |® —8+1
—(6—5) = —
@D —5—3 =(-5+(-3 |@® —6—6
—(5+3) = —¢
—2—8  =(-2)+(-9) —4—5
—(2+72) —70
/j’( D (nq‘%{ VA J: Calculate the following expression.
bW bAEN
] A i &d
O 1+1 ® 2+ 4
® 7—-1 @ 5 — 4
® 1—9 ® 2—6
@ —2+ 10 -2+ 2
@ -5+ 5 -6+ 3
@ —8— 8 @ —3—7
® —-1—1 —5—6

3.

DAY

/j’( D n+§- VA J: Calculate the following expression.

W HA WD

{51 R il

DO 4x+4x D 4x+ 6x
=(4+4Hx = ¢ x

@ x+ 4x @ 8x + «x
=(/+4H)x = b5 x

® 6x— 2x ® 7Tx—x
=(6—2)x = 4 «x

@ x— 4x @ 2x —9x
—(/—Hx = —3«x

® —x+Tx ® —x+4x
=(—/+7)x = 6 x

® —6x+ 5x ® —7Tx+ 2x
=(—6+5)x = —x

@ —5x—3x @ —2x— 2x
—(—5—-3)x = —¢ «x

® —2x— 8«x ® —3x— 4x
—(—2—¢)x = —/0x

AN

/j’( D n+ %- A J: Calculate the following expression.

b N bHAEN

Bl i &d

O x+x @ 3x+9x

® 7Tx — x @ 4x — 3x

® x—9x ® 3x—9x

@ —2x+ 10x —3x + 3x

© —5x+5x —8x + 2x

@ —8x — 8x @ —8x—5x

® —x—x —2x— Tx
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/j’( D n+%: A J: Calculate the following expression.
0 HA WD
151 RE Bl
D 8+ 8 =(+8)+(+8) |O 7+ 7
=+ +7¢) =
@ 9+1 =(+9+(+1) |@ 6+ 1
=4+ (9+7) = 70
® 7—6 —(+7+(-6 |[® 9—1
=+(7—6) = 7
@ 1—5 =(+)+(-5 |@ 3—7
=—(5—7) = —4
® —-7+6 =(-7n+tH+e |® —8+1
—(7—6) = —/
® —1+ 10 =(1+(+10 |® —1+ 3
=+ (0—7) = ¢
@D —9—3 =(-9+(-3 |@® —8—8
—(9+3) = =72
—5—8  =(—5+(—98) —7—38
—(5+¢) = —73
/j’( D (nq‘%{ VA J: Calculate the following expression.
b EN b
Eil= Bl
® 3+ 3 @ 2+ 9
® 8—1 @ 5—1
®1—9 ® 2 — 6
@ —5+ 11 -5+ 5
@ —2+ 2 —8+ 3
@ —7—7 @ —4—7
@ —1+1 —5—5

3.

DAY

/j’( D n+§- VA J: Calculate the following expression.

W HA WD

{51 R il

O 6x+ 6x O 9x+9x
=(6+6)x =72 x

@ 7x+ x @ 5bx+ x
=(7+7)x =¢ x

® 4x — 3x ® 6x— 5x
=(4—3)x = «x

@ x—T7x @ 2x —5x
=(/—7)x =—6 x

® —4x+ 3x

® —7x+ 2x

=(—4+3)x =—x
® —x+6x ® —x+ 7x
=(—/+6)x =5 x
@D —4x — 3x @ —3x— 3x
=(—4—-3)x =—x
® —4x—9x ® —6x— 8x
=(—4-9x =-13x
AN
/j’( D n+ %- A J: Calculate the following expression.
b bHAEN
F'ﬂ i &d
O 3x+ 3«x @ 6x+ 9x
® 8x — x @ 4x—x
® x—9x ® 3x—9x

@ —5x+ 11x

—4x+ 4x

© —2x+ 2x

—6x + 2x

@ —7x—7x

@ —8x — 2x

® —x+ x

—6x — 6x
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Calculate the following expression.

{5 i
® 3+ 4 =(+3+(+4 |O 3+ 2
=+03+4) =7
@ 5—4 =(+5)+(-49 |@ 8—5
=+ (5—4) =7
@ 5—6 =(+5)+(-6) |@ 3—7
—(6—5) = —7
@ —5—3 =(-9+(-3 |@® —8—2
—(5+3) = —¢
® —2+3 =(-2++3 |® —2+9
=+(3—2) =7
® —6+3 =(0o++3 |©® —7+3
—(6—3) = —3
@ —2—7 =(2+-7n |® —1—9
—(2+7) = =9
—3—2  =(-9+(-2 —4— 3
—(3+2) = =5

PAR-YY

2. /k@ RHE X

Calculate the following expression.

i L

®© 7+ 3 @ 2+ 9
® 8 —2 @ 8—5
® 2—6 ® 2—6
@ —2+ 2 ® —2+5
@ —6+ 2 ©® —5+ 2
@ —6— 6 @ —3—8
@ —2—1 @ —3—1

E( )

3. /k@ ahr oy A

Calculate the following expression.

{5 i

O x—x D© 2x— 2x
=(/—7Nx =0

@ 6x+4x @ 7Tx+2x
=(+4)x= 70 x

@ 6x —4x @ 7x— 3«x
—(b—4)x= 2 x

@ x—4x @ x—7x
=(/—Nx= -3 x

® —x+5x ® —x+6x

=(—/+5)x= 2 x

® —bHx+ 4x

® —7x+ 6x

=(—5+4)x = —x

@ —2x— 6x @ —3x— 5x
=(—2-6)x = —& «x

—7x— X —4x— x
—(—7—-1)x = —¢ x

PAAR-Y Y

2. /k@ RHTE A L

Calculate the following expression.

HA TN

Ff il

O 7x+ 3x @ 2x+ 9x
® 8x — 2x @ 4x—2x
® 2x —6x ® 4x —9x

@ —2x+ 2x

—3x+ 9x

©® —6x+ 2x

—6x — 4x

@ —6x—6x

@ —2x— 6x

@ —2x — x

—4x — x




b L L & PARR-IY

A

ERl? Y308 R

[

£ B

)

oX L& ) AN ) HL
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Find the coefficients of each term in the following expression.

I HA WD
Bl 3x—y+ 4 M aoa+2b—3
mw\‘,i
3 x OFREIT 3
mw\ji
—y ORENT —7
Tbxji:i
TE R 1 Y
Constant term
ST,
2. Yk @D ﬁ‘ﬁ- H &L ° Calculate the following expression.
e fEZn bA WD
15l /E i
O 2x+4x =2+49x @O 2x+ 8x
= 6 X
@ 5x + «x =6+1)x|@ 3x+ x
= 6 X
® 5x — «x =6-1Dx |® Tx —x
= 4 x
@ 2x —H5x =2-5x @ 2x — 6Xx
= —3 X
® —383x+4x =(3+9x|® —2x+ x
= X
® —3x+3x =(3t9x|® —Hy+ 5y
=0

o Lg E3
3. ROKXDO)ro ZHH L7,

Th P

KERMT D,

Remove the parentheses from the following expressions.

v

il i

HA TN

[ &

- S
@© 2(x+ 3)
=2Xx +2X%X3

= 2 x+6

@ 3(x+4)

® §(2x—1)

=3x2x+ 3x(—1)

= 6x—3

@ 4(3x— 2)

® (x+6)

=(—1)xx +(-1)x6

= —x—6

® —(x+2)

AN
—(2x—4)
=(—1)x2x +(—1)x(—4)

@

= —2 x+4

@ —(4x—1)

s RN
® —2(4x—1)

=(-2) x4x +(-2) x(—1)

= —§& X +4

® —4(3x— 2)

4. KoHEEE L,

Calculate the following expression.

nwn

il

HA N

i

aic

O© Bx+ 2+ (x+ 4)
= 3x+t2+x+4
= B3+ 1)x+(2+ 4

= 4 x+56

® 2x+ 1)+ (x+ 3)

@ (4x+ 6)—(x+ 4)
= 4x+t6—x—4
= (4—1x+(6—4)

= 3 x+2

@ Bx+ 4)—(x+ 3)

@ (—2x—y)+@2x+ 2y)
= 2x—y+2x+ 2y
= (2+2x+(-1+2)y

=)

@ Bx—y)+(—2x+y)

@ Q2x—y)—(—2x+y)
= 2x—y+2x—y

= 2+2x+(—1—-1)y

@ (x—2y)—(—2x +y)

=4 x—2y
® 5x + 3 ® 3x +1
+)  3x +1 +) 2x +2
§ x +4
® 4x + 6 ® 5x + 7
-) x 42 ~)  2x +2
3 x +4
@ 5x + 3 @ 3x — 1
+) —2x —3 +) —sx +1
3 x
—2x + 4 4x — 3
~) —2x +4 ~)  4x -3
0
©) 3x + oy ©) 4x — 5y
+) —2x  —3y +) —2x  +2y
X —2y
—2x — by —5x — 3y
-) —4x  +2y —-) —2x +2y
2 x —7 y
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1. Yk@ﬁ@%ﬂ%ﬂ@lﬁ@ﬁrﬁ@%*&)io 4. Yk@%‘%%ﬂi’io Calculate the following expression.
Find the coefficients of each term in the following expression.
nwn HA WD
v En bA D 151 RH il A
il —3x+y —4 M 3a— b+ 2
. ® (4x+2+Bx+ 1) O (x+2+@Bx+ 4)
—3 x OFRKIT —3
= 4x+2+3x+1
AR
y OREIE 7
= (4+3)x+(2+1)
Tb\jjli
E B —4
Constant term = 7 x+3
T , ,
2. ROFREZH X, Calculate the following expression. © (236 + 1)_(336 + 4) ® (x + 3)_(436 + 5)
v bA WD
1] [i4] & = 2x+1—3x—4
O 3x + «x =B+1x|® 2x + x
= 2—-3)x+(1— 4
= 4 x
= —x —3
® b5x+ 2x -6+2x|@ 3x+ 3x
— 7 x @ (—x+y)+Bx—y) @ (—x—y+x—2y
@ 5x— 3x =6-9x @ Tx —4x = Txtyt3x—y
= 2 x = (-1+3)x+(1— 1)y
@ 2x — 3«x =2-3x|@ 5x —4x = 2x
= —X
@ @2x—y-(aty |@ &3y (x—2y
® —Tx+2x =(71+9x|® —4x+ 3x
= 2x—yt+tx—y
= —5bx
= 2+ 1D)x+(—1—-1)y
® —3x+2x =(3+9x|® —6x+ 5x
= 3 x—2Yy
= —X
oF L T ThoB ® 5x + 3 ® 4x —1
3. RKOROH»Z 25 LAE, MEMT 5. +) 2x —1 +) 2x 42
Remove the parentheses from the following expressions.
7w b AN 7 x +2
151 B il
e S
@ 4(x+2) @ 5(x+2) ® 4x +3 ©® 5x + 17
AR ~) 3x +2 ~)  4x 42
= 4 x+¢ x 7
e
@ 2(4x—3) @ 3(2x— 1) @ 5x  +3 @ —2x — 4
= & x—6 —7/
e
® “(x+5) @ —(x+9) —2x +4 4x — 3
:(71)><x+(71)><5 —) 2 x + 4 _) —4 x — 3
= —x—5 —4 x
e R
@ —(2x—3) @ —(3x—5) © bx — v © —2x  + 3y
=) x2x +(-)x(-9) ) —2x 3y t) 8x 2y
= —2 x+3 3 x —4y
e
® —2(3x—4) ® —3(2x— 1) —2x — by —5x — 3y
=(-2)x3x +(-Dx(—4) o) 4x -3y o) zx -2y
= —6Xx+¢ —b6bx —2y
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Find the coefficients of each term in the following expression.

i EL bAED
Bl —x+3y+ 2 M —3a+ b— 2
mw\‘,i
—x OFREIT —/
mw\ji
3y OFEIT 3
Tb\jjli
TE R 1 2
Constant term
ST,
2. Yk @D ﬁ‘ﬁ- H &L ° Calculate the following expression.
e fEZn bA WD
15l /E i
@O 5x+ x =6+1Dx | x+ x
= 6 X
® 2x+4x =2+49x|@ 3x+5x
= 6 X
@ 6x—2x =6-2x|® 8x —5x
= 4 x
@ 3x —5x =3-5x|@ 2x — 5x
= —2Xx
® —6x—4x =(6-492|® —Tx—2x
= —/0 x
® —3x+3x =(3t3x|® —6x+ 6x
=0

o Lg E3
3. ROKXDO)ro ZHH L7,

Th P

KERMT D,

Remove the parentheses from the following expressions.

=D xx + (1) x(-5H)

= —x+5

v bA WD
151 B il
D 6(x+3) ® 2(x+7)
=6Xx + 6X%3
= 6 x+78
@ 3(4x—5) @ 4(2x— 5)
=3x4x+ 3x(—5)
= /2 x5
® “(x-35) ® —(x— 1)

-
—(2x+5)
=(—1)x2x +(—1)x5

@

= —2 x5

@ —(3x+2)

@—@4)

=(=2) x (%) +(-2) x(—4)

= 2 x+¢

® —3(—x—1)

4. KoHEEE L,

Calculate the following expression.

nwn

il

HA N

i

aic

® b6x+2)+@Bx+ 5)
= 6x+2+3x+5
= 6+3x+(2+5)

= 9 x+7

®© 2x+ 1)+@Bx+ 3)

@ 2x+1)—(5Bx+ 6)
=2x+1—5x—6
= (2—-5x+(1—6)

= —3x—5

@ 2x+ 3)—(6x+ 5)

® (—2x+ y)+(2x+y)
= 2x+y+2x+y
= (*2+2)x+(1+ l)y

©) (x-Zy)—i—(x—f—Zy)

@ Bx—y)—(—2x— 3y)
= 3x—y+2x+ 3y

= B3+2x+(—1+3)y

@ (@x—3y)—(—x—y)

= 5x+2y
® x + 4 ® 4x —1
+) 2x —1 +) x +5
3 x +3
® 5x + 7 ® Tx + 4
~) 2x +2 ~)  3x +1
3 x +5
@ 4x + 3 @ —2x — 4
+) —4x —5 +)  2x +3
—2
® —2x — 4 ® 4x +3
—) 2x — 4 —) —4x + 3
—6 X
©) x — 2y ® —x  + y
+) —4 x — 3y +) —3x — 5y
—3 X —5y
—2x — 4y —2x — 4y
—) 3x — 3y —) 2 x — 5y
—5x —y




SN Mo

B2 nyI0iLE RE [ JEC R B )

1 KOROEA DT, FHE L 2. WOXDER&MHT, ek
Complete the following formula by filling in the blanks. Complete the following formula by filling in the blanks.
fpi il fpi il
D55y ® 3(2+1) O (2+ )5 +4) ®©(3+4)(2+1)
=2x3+ 2x4 =( )+ ( ) =2x3+ 2%x4+ _( Ve "
=(6)+(s) =14 — 1x3+ 1x4
=(6 )+ (2 )+ ( )+C )
@5/(§1_+\2) @ 4(2+ 3) (3)+(4) _
=5xX1+5x2 :( )+( ) = 2/
=(5)+(70 )= 15 = @ (5+2)B—1) @ (1+3)(4—2)
=3x5+ 3x(—1)+ B
@@2) @ —(2+3) o x5+ 2x(—1) =0 )+ )+
IR A =00 ) =(75 )+ (—3 )+ ( )+ )
=(=1)+(-2)= -3 = (70)+(-2) B
= 20 B
@ 6(3—1) @ 2(3—1)
=6x3+ 6x(—1) —( )+ ( ) ®(@) @ (4+2)(4+1)
:(/(S’ )+(*6): 9 _ =1x1+1x3+ :( )+( )+
2x1+ 2x1
5 50y © a(3-2) (7 )43 )+ ()
“sx1 4 5x(-d = ) (2)+(¢) _
—(5)+(-8)= —/0 = -0
@ (3@) @ (5+2)(5—1)
® 3(-1-3) © 2(-3-2) —3x3+ 3x(—2)+ Ol )
= 3x(-1)+ 3x(-9) = )+ ) 2x3+ 2 x(—2) B
=(—=3 )+(=9)= —2| = =(9 )+ (—8)+ ( )+ )
(6)+(—4) B
@ 5(—-3-2) @ 3(—4—2) = 76 B
B ( 3)+5><(72) :( )+( ) o¥ L& £S5 Th
(—75)+(—70)= —25 _ 3. KOROH v 2% LT, EHEL,
—— fpi i
® 7(—-14+ 2) ® 6(—2+4) D $(x+3) D 3(x+2)
=7x(—1)+ 7x2 :( )+( ) =2Xx +2x%x3
=(—7 )+ (74 )= 7 = C et
@ x—4) @ 5(x—3)
AN N =3xx + 3x(—4)
® 6(—3+1) ® 5(—1+3) I
—6x(-3)+ 6x1 = )0 _
® 4(2x+ 1) ® 3(2x+ 1)
=(=78 )+(6 )= —12 = ot i
A TN = & x+4
@ 4(1+2+3) ®5(a4+2+1) =
—4x1+ 4x2+ 4%x3 :( )+( )+( ) @ 2(x2+ 3x+2) @ 2(x2+ 4x+ 3)
=(4)+(s)+(72) B =2xx24+ 2x3x+ 2x2
= 24 a — 2 xltb x4




